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Swass arssern sfwrsd uflord e daaT ATUFMTE
sflurisgs Qarearerayd. SFsUUS D G@pUIGLIa, ADDSE
samareafiuTerflLb o Largwrss Glgilelssen.

B odegy smuy oolea wLILEGCWL TWHAUSDHEWL.
<13 5C5T HeughEn LwuaLBSs CouaBb. LLh&HE almfasnE
Querfle LwerUHSSHeLD.

Check the question paper for fairness of printing, If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

uES - 1/ PART -1

EE NaTESEREGD afenLwWefl&sHeD. 20x1=20

Qar®ssiul_Heter e wrom e sefle Wesapb ghyemLw

sdenLevwis CabOsBs85is GO HLer eflepL uwiepard Comggl eT(LSaLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1. A wppwb B eaam @ HlspsflseEnss P(R)=% wHmb P(ANB) =
P(AmB) - W&l :

1 eT &l 6o
2
(@) (=) 5 (@) < (™) 3

If two events A and B are such that P(A) = % and P(AnB) = 1 then P(AnB) is :

[\

1

1
@ © 3 © 3 @ 3

2. x?—4y?=0 ppb x=a erarp CHTH&ETTL 2 (HeuTsHLILIHID wp&ECarangSlen Lirliy :

12 2 2 2 V3 5
(1) 32 ()2 @ 5 (m)
The area of the triangle formed by the lines x2—4y2=0 and x=a is :

12 2 ia2 V3 o
@ >3 (b) 2a © 75 d) —-a

3. A vppgw B du @n fepsfladt AcB wpmib P(B) =0, erar G miben
Aeeumeuamelhmier oTg QuiuTeng ?

P(A
(1) P(A/B) = P(4) (<) PA/B) = pL(B)l
(&) P(A/B) > P(B) (/) P(A/B) < P(A)
If A and B are two events such that AcB and P(B)#0, then which of the following is
correct ?
P(A
(a) P(A/B) = P(A) by P(A/B)= TJ%
() P(A/B) > P(B) (d) P(A/B) < P(A)
4.  y=f(x*+2) OO f'(3)=5 eTaflle, x=1 -&@ il—dz GTETU| -
(e21) 15 ()5 (@) 10 () 25
dy :
If y=f(x*+2) and f’(3) =5, then 5, atr=1lis:
{a) 15 (b 5 (cy 10 (d) 25
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log 5512 -e Lol :

(=) 9 ()16 (@) 12 (rr) 18
The value of log 7 512 is:
(a) 9 (b) 16 (c) 12 (dy 18 i
J‘\/tanx _
sin2x -

(@) 2VEnT+C (@) JEnx+C (@) (VB +C (M) 2JEnx +C
j'\/tanxdx

sin2x

@ WEE+C © Jamr+c @ FVEE+C (@) 2/Emr+C

(x, —2), (5, 2), 8, 8) erenua g CarLewll Leraflser erafle, x -a Ly
1

(1) 1 () -3 (@) 3 () 3
If the points (x, —2), (5, 2), (8, 8) are collinear, then x is equal to :

1
@ 1 ® -3 © 3 @ 3
x2 2 . - - -
% —yg =k erem Fluwlarengulen Bg (8, —5) eremp yerefl o dTarg erafed, k -
L] :
(=1) 2 (=)0 (&) 3 () 1

2 2

If the point (8, —5) lies on the locus ;_6 - ];—5 =k, then the value of k is :
(@ 2 ® o © 3 @ 1

f:1-3,3] - S eramp &Mty f(x)=x2 erarn cwerupssLULH CunGasrissea erafle,
S ereTLIg) :

(=) [-3,3] (<) (-9, 9] (&) 9 (F) R
If the function f: [—3, 3] — S defined by f(x)=x?is onto, then S is :
@ [-33] (b) [-9 9] (© 10, 9] (d R
B [ Swliys / Turn over

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377


user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377

user
Typewriter
XI - MARCH 2024


XI - MARCH 2024 = 4

10.

11.

12.

13.

N
BA =37 +2j +% wppib B -an flovw QeusLit §437 -} erafled A -6t Flaved ClaudLi -
AN LA AL A
(=) 4f (@) 4i+2j+k (@) -4i () 4i+5]
= A NN Ly LA A A . .
If BA=3i+2j +k and the position vector of Bis i +3; - k. then the position vector A is :

(@ 47} ® 4i+27+k (9 -4} (d) 4i+57

sin(A~B) _ sin(B-C) _ sin(C-A) _

cosAcosB  cosBcosC  cosCcosA
()0 (<) sinA +sinB + sinC
(@) cosA +cosB+cosC () 1
sin(A—B) + sin(B—C) + sin(C—A) | _
cosAcosB  cosBcosC  cosC cosA 15+
(a) 0 (b) sinA +sinB+sinC
(c) cosA+cosB+cosC (d) 1
3—-x -6 3
-6 3-x 3 |=0 eremp swenumrigen g Siey :
3 3 -6—x :
(@) 0 (<) 6 (&) -6 (FF) 3
3—-x -6 3
A root of the equation | —6 3 —x 3 |=0is:
3 3 -6—x
(a O (b) 6 (c) —6 d 3
y=e5" grafled dy_
dx
(él) Sinxesinx (‘—%b) esinx (@) Cosxesinx (IT) atosx
If y=esSinx then — =
y=e en e
(a) Sinxesinx (b) esinx (C) COSxesinx (d) acosx
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14.

15.

16.

17.

XI - MARCH 2024 5

NCy+7C, + .o +0C, =

(=) 27+t ()27 (@) 2! (FF) 2n
NCy+0C, + ovvv. +0C, =
(a) 2n+1 () 20 ) 201! (d 2n

e~ 2 graoim QBTLMed x° -er Glay :

—4 2 4 3
(=) 5 () 3 (&) 35 (") 3
The co-efficient of 17 in the series e " is :

-4 2 4 3
@ 75 b) 3 © 15 d 3
lim a’ —b* _
x—0 X

Io (EJ log ab a . log[iJ
(1) log| - (<) log a @ = () log
lim a* —b* _
x—0 X

b a a

(a) log [;) (b) logab © 3 (d) log[g)
n YU HsEHd SIF5HEG AUTBSSLNS n FTelEEHD 2 drerar. mass L HSEHSED

grefladr sflwrs QurmpgaughaTar AHsLLF pupslaaten earailbms :

(<) n(n—1) (=) n(n +1) (@) n () ?‘(nTﬂ)

There are n locks and n matching keys. If all the locks and keys are to be perfectly matched,
then the maximum number of trials is :

n(n+1)
() nn-1) (b) n{n+l) (€ n b —5
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. Sinx
18, lm——
X—ce X
(=1) = ()1
lim 222
X—e X
(@) o b 1
19. a=i+j+k, b=2f+xj+k, <
tngl L
(=) 26 ()5
= A A A S A A A DA
Fa=i+j+k, b=2i+txj+k, c
(a) 26 () 5

6
(&) -« () 0
€ -~ (d) 0

(&) 10 () 7

(€ 10 d) 7

20. n((AxB)"(AxC))=8 whmd n(BNC)=2 eTafled, n(A) ereiug :

(1) 8

(<=1)6

(&) 16

If n((AxB)"(AxC)}=8 and n(BNC) =2 then n(A) is :

(@) 8

(b) 6

© 16 d) 4

u@gdl - 11/ PART - 11

= ~T+4k wHDD 2 (b x )=70 erafld x -en

GPILY : aemeuCuenib e(p elemmssense ool walssayn. elarr eram 30 -&s
SLLrwwrs efenL_WwelsseyLb.

Note :

21, L4 Li_A

T
11
TR

22. 3x+2y+9=0 wHmb 12x+8y—15=0 et QavarCaTRisear erand Gl (Hs.

A
9!

ereefled A -eir &I eTeman ?

A
—= 91 then find the value of A.

Answer any seven questions. Question No. 30 is Compulsory.

Show that the lines are 3x+2y+9=0 and 12x +8y—15=0 are parallel lines.

7x2=14
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3 41
23. A=|0 -1 2| eraflé, [A| -ei wFluens HTewers.
5 -2 6
3 4 1
Compute |A]if A=|0 -1 2
| 5 -2 6

24.
P(AUB) -6 sraus.
, 3
If A and B are mutually exclusive events P(A) = 3 and P(B) =
- A A .
25. a=3i+4j wpPHW b=
/\ Fal A
Fmd| , where a—31+4] and i+j+k.
26 _ atm STTle FTTUSSMSS STETSH
T 1-2sinx oremn AR '
1
Find the domain of —————
1—2sinx
— tanA . .
27. tan(45° - —_—— TS STL(h&G.
an( A)= 1+ tanA C

— tanA
t tan{45° — Ay=———
Show that tan( ) T @

28. f(x)=xcosx eTafled, f" Ereters.

Find f" if f(x) =xcosx.

L= A A A
i+ +k erefe, |a><b -a wHllenLIE STeRTs.

A opmb B geanenp@urem slds@h Hspsfser, P(A) = % whHmib P(B) = % erafley,

then find P(ZXUE) .
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s

29. Sxi+6xy+y?=0 eratp @rieL Cpilsrigear gafigsgal CrrCsr@sefer
FWETUTL L& HTeon .
Find the separate equation of the pair of straight lines 3x% + 6xy + y?>=0.,

30. INDIA eranip eumiigenguiier o erer eT(pSgsamer eTsSenan auamagaid euflanal-
LBHSSOMD ?
Find the number of ways of arranging the letters of the word INDIA.

L@ - 11/ PART - 111
GPlLy : eremasBuand g Nearss@ErsE o walssab. elam aar 40 -&&

SLLmuwng aflenl_wefléseylb. 7x3=21
Note : Answer any seven questions. Question No. 40 is Compulsory.
3. &HEGS :
t 1 .11 . 1
3-8 VB-V7 T-J8 Voe-5 5-2
Simplify :
1 1 1 1 1

35— B-V7 - k- B2

32. wdulEs :
J'xexdx
Evaluate :

Ixex dx

33. Jdemeumb Gsrfléd upgad n 2 mliyseailear saadse srems.
6+ 66+666+6666+...........
Compute the sum of first n terms of the series,
6+66+666+6666+...........

XX -6x+5 . . .
34. Hm —/————— -Gy nflenid srans.
x-3 x7 —8x +7

) 2 —6x+5
Calculate : lim = o
=3 x —8x+7
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35.

36.

37.

38.

39.

40.

Xl - MARCH 2024 9

x -gl QUIMISS eUaNEELIE(pened: STaTS.
y=xe*logx

Differentiate the following with respect to x.
y=1xe*logx

"P,=720 wpmitd "C, =120 erafldd, n, r -REF FTATS.
If "P,=720 and "C, =120 find n, r.

&Ly STamrs : cos105°.
Find the value of cos105°,

[ x2+x-5 ;o xe(—»,0)
2
¥ +3x-2 ;  xe(3, =)
fy=1"")
X ;7 xe(0, 2)

| x2-3  ; oo rhseld

T eueTWMGSLILIger —3, 5, 0 Hlweupdled f -e wllILsamens srais.

[ 2425 if xe(- o, 0)
2 43x-2 if  xe(3, ®)

Write the values of fat —3, 5, 0if f{x) = 1 2
x if xe(0, 2}

x2-3 otherwise

20— j+k,31-4]—dk, i 375k A Qeusbi_itaar @@ QerGaran (p&Careamsangs

SBMDEGLD eTerS ST (H&.

A} A I A ) A A A A
Show that the vectors 27 — j+k, 3i —4j—4k, i —3j -5k form a right angled triangle.
cos11° + sinl1°®

cos11® — sinl1®
Prove that :

= tanb6° gregr (rf,]g@_la;

cos11° + sin11°
cosll® — sinll®

= tan56°
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u@d - IV/PART - IV
GO : simengs clamssens@n elen_wealssayib. 7x5=35
Note : Answer all the questions.

2x
@+ -1

41. () ud Yareamaerrsl Gflssea .

DIEV6VG)
(<) y=ean ™% arafld, (1+22y"+(2x— 1)y’ =0 erand &r’_[Hs.

2x

(a) Resolve into partial fractions — .
(x*+1)(x— 1)

OR
by If y=etan_lx, show that (1+x%)y"+ (2x—1)y'=0.

42. (=) ABCD craim privsgssled AC, BD -ar piLiematiser E wmmibd F -2u8 @minde,
_ > - — —>
AB+AD+CB+CD=4EF erem ‘rfﬂgjm&?

JETAEN:
(<) f Weraumpormy euenFuUmGSILL_(RETeTs).

sinx
~— 4+ cosx x=z0

flx) =y «x
2 : x=0

eremp #riy x=0 -@é CeTrFflwuneng erend Sm_(Ha.

(a) If ABCD is a quadrilateral and E and F are the midpoints of AC and BD respectively,

—_ —> —> — —
then prove that AB+AD+CB+ CD=4EF.

OR
smr cosx ; when x=0
(b) Let flx)=y «x -
2 ; when x=0

Show that f is continuous at x=0.
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43. (=) log102+1610g10% +1210g]0§—2 +710g10§%=1 erem Hlmieys.

44.

45,

{60V T
(=) @868 Q@ yrgseiles, qeamld 6 smuy wHm 4 Heutiyy BDL LBSSET 2 dreTear.
LoH@DTH gmgudled 2 Sy wHmb 2 Heuiy DL LHSISET 2 draTar. FweumiLiL]
peopuied Gb gy CoIBESEESLLLE ASSMmbs R LS ahEsILGEDS.
(i) SupBE sHUUTES GuughasTar HEpssameid: STas.
(i) er(ASSLLLL ubBS SHLLY ereried (PG RIguledl pbg erBSSILL L SHaETe
Bspssa) wrg ?
16 23 81
(a) Prove that logyy2+16logyg I +12logg > +7logqg 20" 1
OR
(b) There are two identical urns containing respectively 6 black and 4 red balls, 2 black
and 2 red balls. An urn is chosen at random and a ball is drawn from it.
(i)  Find the probability that the ball is black.
(i)  If the ball is black, what is the probability that it is from the first urn ?

. 3x+5 d
(1) wALEGS - Ixz a7

3|60V
(«24) cot (7% ] =V2 + 3+ V4 + J6 aTans sramissa)n.

3x +5

. | =———dx
(a) Evaluate : Ixz e

OR

(b) Show that cot(7-12-0]=\/§+\/§+~/1+\/6-

(<=1) x @m Coamauwnear emefleomen Gluflu erewr erafle,

¥ +6 - I3 +3 -an wdllienis CHrrmuLoms xiz eren Hmie|s.
SisVeVg|
(<) f: R — Rerémm &y f(x) =2x —3 ere cuenFwmISsLILIG 6 f (1 S)HLDESTIL] 6Te
Blem 9851, gen Chiorhenans sraus.

1
(a) Prove that %/xs +6 — %/x3 + 3 is approximately equal to —5 when x is sufficiently
x

large.
OR
(b) If f: R — R is defined by f(x}=2x—3, prove that fis a bijection and find its inverse.
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46. (=) CeuQufen @sHriams sfl, Hamdssab.
JEALNEMY: 5
(<2p) M2 —10xy + 12y +5x — 16y —3 =0 eTemmLig @ QT Gpir&GarieaL @D&EW
erafled

@) A -en wHUy wopb sellssels soUTHEMETS STEHTS.
i) @eueim Car@adr Qau Qb yereflanud srams.
(i) @@ CHTRsErsE G LUl Camemmd STams.

(a) State and prove Napier's Formula.

OR
(b) If the equation Ax>—10xy + 12y% +5x — 16y —3 =0 represents a pair of straight lines,
find : '
(i)  The value of A and the separate equations of the lines.
(i) Point of intersection of the lines.
(iiiy Angle between the lines.

47. (=) smeafls Cappses LSS

b+c a a2

c+a b b2l =@+b+c)(a—b)d-c)ic— a)eren Flmals.

at+b ¢ 2

3|6V60FI .
(1) n>1 -6@ 32 °2—8n—9 gl 8 - UGLEL earims Hpes.

b+c¢c a a®

(a) Using Factor theorem, prove that |¢ +a b b= (@a+b+c)@-b)(b—c(c—a)

at+tb ¢ c?

OR
(b) Prove that 328 +2—8n—9 is divisible by 8 for all n=>1.

-o00o0-
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